348

Precipitation Reactions Worksheet Key

For each of the following reactants, predict whether a precipitation reaction will take place between them.
If there is no reaction, write “no reaction”. If there is a reaction, write the complete, complete ionic, and net
ionic equations that describe the reaction.
a. LizCOs(aq) + Co(CaH302)2(zg) — 2LiC;H305(ag) + CoCO3(s)
2Li"(aq) + CO32 (ag) + Co*t(ag) + 2C,H302 (aq) — 2Lit(ag) + 2C;H30: (2g) + CoCO3(s)
CO32 (ag) + Co?"(ag) —> CoCO3(s)
b. 2Fe(INO3)3(ag) + 3KoS(ag) —> FeaSsz(s) + 6KINO3(agq)
2Fe3+(ag) + 6NO3 (ag) + 6K (ag) + 3Szf(aq) — FezS3(s) + 6K (ag) + 6NO3 (ag)
2Fe* (aq) + 387 (ag) — FeyS;3(s)
c. Pb(NO3)a(ag) + LiaSOslzg) — PbSO4(s) + 2LiNO3(ag)
Pb?t(ag) + 2NO3 (aq) + 2Li'(aq) + SO4> (ag) — PbSO4(s) + 2Lit(ag) + 2NO3 (ag)
Pb2 (ag) + SO (aq) — PbSO4(s)
d. NH4Cl{ag) + Cu(C:H303)2(2q9) No reaction
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For each of the following reactants, predict whether a precipitation reaction will take place between them.
If there is no reaction, write “no reaction”. If there is a reaction, write the complete, complete ionic, and net
ionic equations that describe the reaction.
a. 2K3PO4((ZQ’) + 3Cd(C2H302)7_(ﬂq) — 6KC2H302(aq) + Cd;(PO4)2(s)
6K (ag) + 2P0 (ag) + 3Cd%"(ag) + 6CH30: (ag)
— 6K+(dq) + 6C2H302*(¢tg) + Cd3(P04)2($)
2P0 (ag) + 3Cd*(aq) — Cd3(PO4)2(s)
b. K;S(ag) + ZnCly(ag) — 2KCl(azg) + ZnS(s)
2K (aq) + S2 (aq) + Zn?’'(aq) + 2Cl (agq) — 2K'(aq) + 2Cl (ag) + ZnS(s)
82 (aq) + Zn?*t(ag) — ZnS(s)
c. ZNH4Br(eg) + Pb(CoHz02)12(ag) — 2NH4CH30,(ag) + PbBra(s)
2NH4 (ag) + 2Br (ag) + Pb?*t(ag) + 2C,H305 (ag)
— 2NH4+(¢ZQ‘) + 2C2H302’(aq) + PbBra(s)
2Br (ag) + Pb®"(ag) — PbBr2(s)
d. NazSOy4(e2g) + Ba(lNO3)2(ag) —> 2NaNOs(ag) + BaSOuy(s)
2Na't(zg) + SO42 (ag) + Ba®'(ag) + 2ZNO3 (ag)
— 2Na'(ag) + 2NO3 (ag) + BaSO4(s)
S04 (ag) + Ba?t(ag) — BaSO4(s)
e. K3POu(zg) + (NH4)2CO5(aqg) No Reaction



